PLC Assignment 19 Final Exam Questions
1. Evaluate the following expression: 
(+ 7  ( * 2 2 (call/cc (lambda (k) (+ 2 (call/cc (lambda (m) (m 3))))))))
R1: (lambda (m) (m 3))
K1: (escaper (lambda (v) (+ 2 v))
· (+ 2 3) = 5
R2 : (lambda (k) (+ 2 3))
K2: (lambda (z) (+ 7 (* 2 2 v))
· (+ 7 (* 2 2 5)) = 27 
Alternate work: 
(7 + (2 * 2 * (3 + 2))) = 27

2. Evaluate the following expression: 
(letrec ([helper (lambda (m) (* m (call/cc (lambda (x) (* 4 (x 5))))))] [helper2 (+ 1(call/cc (lambda (y) (+ 3 6))))]) (list (helper 3) helper2))
Evaluate (helper 3) : 
Create helper closure: 
R1: (lambda (x) (* 4 (x 5)))
K1: (lambda (m) (escaper (lambda (v) (* m v)))
Apply closure to 3: 
(escaper (lambda (v) (* 3 v)))
· (* 3 5) = 15
Evaluate helper2: 
R2: (lambda (y) (+ 3 6))
K2: (lambda(v) (+ 1 v))
(+ 1 (+ 3 6)) = 10
[bookmark: _GoBack]So (list (helper 3) helper2) = (15 10)

Alternate work : 
(helper 3) = 5 * 3 = 15
helper2 = 1 + 3 + 6 = 10
(list (helper 3) helper2) = (15 10)
